[bookmark: _GoBack]7 + 8 = 15, so 8 + ___= 15.  How do you know?

6 + ? = 12.  Explain how you would find the missing number using an addition strategy.


Susie has 7 red apples and 3 green apples.  
Johnny has 3 red apples and 7 green apples.  

[bookmark: _Hlk517002214]Do they have the same number of apples?        Yes       or       No
How do you know?

If 5 + 3 + 5 = 13, what does 3 + 5 + 5 = ____  ?  
How do you know?



[bookmark: _Hlk512765374]If you have 3 + 5 + 7, what numbers would you add first?  Why?

Matt has 5 red Skittles, 3 green Skittles, and 5 yellow Skittles. Meg has 3 purple Skittles, 5 green Skittles, and 5 yellow Skittles. 
 
Do they have the same number of Skittles?     Yes       or       No How do you know?



[bookmark: _Hlk512765484]There were 6 cookies on the tray.  Mom put some more on the tray.  Now there are 13.  How many cookies did mom put on the tray?
Write an addition equation that matches this story.  
Use an addition strategy to solve this equation.

What SUBTRACTION fact can help you solve 8 +  ____ = 11? 
How do you know?


There were 6 cookies on the tray.  Mom put some more on the tray.  Now there are 13.  How many cookies did mom put on the tray?  Write a SUBTRACTION equation to solve this problem. 

___ + 6 = 15.  How would you solve this using a subtraction equation?  Explain using pictures, numbers, or words.



